Re (({2]2(—3.0)[1(0.0))), Vol= £25.0, £50.0

15

on

T
o O “
O 0 1
1O AN 1
R !
1
I ! _
e lie) i
o O \
> > /
\
. 1 “v
1 ~
1 \\\J
ST
i IS
e==—"—
llllllllllllll
ﬂ""””””””ll
== CC
o -----c--c-=-===m=
m===S=SCSIZCZIZZZCZCZCCCCC
oo oo -o--------===m=-
em==SCSSSITIZIZCTITTCOCCCC
ittt eyl L T
i i iyl
TS C----c-====-
lnbll-nl“ll.-l-l--lll-.lu”- lllll
Tttt ==
wmmm o
lllll = o)
= -
\\.\-\
S
pt}
N
)
{
1 o
i -
1
1
1
1
1
_ 0
— i
' ! T T T T T T T
= « N i e — o~ o <
S =) o =) = = % 4 4

(00)%2](0e—)v5|x))

—~

0°0SF ‘0°SZF =IoA ‘(



